
नवोदय �व�ालय �वेश परी�ा अंकग�णत
परी�ण - वष� 2016 के �� प� का हल :
द�ड आरेख
                      अंकग�णत
�नद�श - ��येक �� के �लए 4 संभा�वत उ�र
ह � �जसम � एक, दो, तीन और चार �म �दया है।
केवल एक सही है। आप सही उ�र पर सही
उ�र पु��तका म � �� के आगे �दए बा�स
अं�ेजी सं�या म � �लख�।
�. (52) :- �न�न द�ड आरेख एक �व�ाथ� के
�व�भ� �वषय� म � �ा�त �कए अंक दशा�ता है।
उसे सभी �वषय� म � कुल �कतने अंक �ा�त
�ए ?
1) 150                   (2) 170 
(3) 190                    (4) 200
(नीचे द�ड आरेख का �च� देख�।)
हल :- दंड आरेख म � �ा�तांक उ��ा�धर और
�वषय �ै�तज ���त म � दशा�ए गए ह �।
 �ा�तांक� म �-
अं�ेजी �वषय म � - 20
 �ह �द� �वषय म � - 30 
ग�णत �वषय म � - 50 
�व�ान �वषय म � - 40 
और सामा�जक �व�ान �वषय म � - 30 



अंक �ा�त �ए ह �। 
अतः �ा�त अंक� का योग = 170
उ�र = 170

Navodaya Vidyalaya Entrance Exam
Arithmetic Test -
 Solved Question Paper of 2016 :
Penalty Diagram Arithmetic.
 Direction:- There are four possible
answers for each question, which
are numbered 1, 2, 3 and 4. Only
one is correct. You should write in
the correct answer book in the
English number the box next to the
question.
 Q. 52:-  The following penalty
diagram shows the marks obtained
by a student in different subjects.
How many marks we got in all
subjects received.
(1) 150
(2) 170
(3)190
(4) 200
(See the diagram of the penalty
diagram diagram below)



Solution :-  Scores in the bar
diagram are vertical and subjects
are indicated in a horizontal
position.
In the scores :-
In English subject - 20
In Hindi subject - 30
In Mathematics - 50
In Science - 40
And in Social Science - 30
Marks have received.
Hence sum of marks obtained =
170
Answer = 170
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